(&=l : &
INEI=DN; W SH(EX) INE=1=g=2 =N
dE = 1,941,620
14.03.05 |Z=SHSUH ASLA 2ES ZHl K& Helgs te 77,000
14.03.06 | UiLict i&etgtsl &0t 2Hl XI& == t= 22,500
14.03.05 | LUiltet H&i=t&tsl &oF 3l X& Helgs t= 10,000
14.03.10 [ZII223A 2201 2 NESHZE 20 Helgs A= 37,800
14.03.10 [ZI/2E3A 220 IHE NESAE 204 el s & IE 54,000
14.03.10 |R23E OIAE H0l 2 =otS 20H B Al It 50,000
14.03.17 | NS XXSH 2AH X 2t 3 ZHl K& el = 154,000
14.03.25 | JtEUS 2AX 243 2Hl XN= = = = 80,000
14.03.31 [2U W=D/ 2AH X &3 ZHl XIS elgs H= 56,000
14.03.31 SZ S AT 2ES ZHl K= Helgs t= 87,000
14.03.31 B E ZXAH X2 Z ZAHI s=dd 50,000
S 678,300
SX=H 2,619,920




